3.101

3.101  Water flows down the sloping ramp (n

shown' in Fig. 1?‘3.!0_! with negllglble viscous ef- V=10 Ws—-'!-'-_ Thi=1

fects. The flow is uniform at sections (1) and (2). P wroe \

For the conditions given show that three solutions H=21t) % T =y,

for the downstream depth, h,, are obtained by . 7 //Tf/:f/

use of the Bernoulli and continuity equations.
: S FIGURE P3.10]

However, show that only two of these solutions

are realistic. Determine these values.

"'

(n
-%ﬂr +Z = ?+_§ + 7, where ﬂ’ﬂgﬁfa,fﬁgﬁx
g 4 aﬁd Z, :})2
ﬂ/ﬁﬂ) ﬁ;Vf' =ﬁz Vl
or
i V rrHJ{m ) . 18

ha
Thus, E? (! becames

2 10 )2
2(32.28) 2(32 zﬁ)

or
644 h7 - 2934 +100 =0

By vsing a root finding program the three roots tothis cubic
equation are foond to be’

h, = 0.630 fi
h,= #48ff
or

h,= anegative root  Clearly if is not possible physically)
fo have h,<0 Thus, h,=0.630# or
h, =448 ff

3-/02




